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100ml 23 23 23 23 23 24 24 24 24 24| 23.5] 0.5
200ml1 58 59 58 59 58 58 60 60 58 58| 58.6/ 0.8
300ml1 84 88 89 91 91 97 96 93 95 94| 91.8|3.8158
400ml1 108 114} 117 98| 114 117 117 117 112 114} 112.8|5. 6356
500ml1 1301 133} 131| 130f 136, 143| 142| 144 151] 148] 138. 8|7. 3865
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100ml 38 39 37 37 37 37 37 36 38 37 37.3] 0.781

200ml1 Ib) 74 12 13 74 13 74 13 13 74| 73.5/0.8062

300ml1 103 103 103 104/ 104 103 103 103] 102 103| 103.1}0.5385

400ml1 131 133] 131 133 133] 133 1381| 133] 135 134 132.7|1.2689

500ml1 161 158 161 162 164 163 163| 163] 153 152| 160}4.0743
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200ml1 76 79 5 79 18 7 80 81 7 79| 78. 1|1. 7578
300m1 107, 110 109 108 108 107 110/ 109 112 114]109. 4|2. 1071
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500m1 1o 173 172 171 174 173] 176 175 171 174/172. 9(1. 8138
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PR |F1IR|F 2% 3% A5 DT |F 6% TH% 8% 9=x|% 10=x| L F
100m1 52 51 54 55 52 52 53 53 52 55| 52.9| 1.3
200ml 94 94 95 93 95 94 94 93 94 99| 94.5|1. 6279
300ml 122|139 141} 127 124] 126| 128 125 126  127]128.5]5. 9875
400m1 161 163| 171 156] 158 158 158 159 160]  158]160. 2|4. 0447
500ml 193 190) 190 193] 191} 191] 191 191 194) 190[191. 4|1. 3565
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100m1 Y1 Y1 95 55 56 Y| 55 95 55 55| 54.8 0.6
200ml 95 94 94 94 95 93 95 93 95 94| 94.2|0. 7483
300ml 133 133 132 133] 132 134] 133} 132 134 133132.9 0.7
400ml 173 171 172 171 173 172 171 171 172 172{171. 8|0. 7483
500ml 207 206] 208 208 207 207 207, 205 206 207(206. 8]0. 8718
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#Ek 15% 41 39 40 39 39 38 38 38 38 38/38. 8]0. 9798
-k 30% 47 47 47 48 47 48 47 47 47 4747.2) 0.4
W&k 45% 54 55 54 55 56 54 54 56 54 55(54. 7| 0. 781
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PE1 15% 50 49 50 50 49 49 48 50 50 49| 49.4/0.6633

P 30% 55 57 55 56 57 57 56 58 57 57} 56.5| 0.922

P 45% 66 64 65 66 66 64 64 65 65 66| 65.1]0.8307
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%2 &1 60 29 60 60 60 59.8 0.4

%2R 2 120 119 120 120 120] 119.8 0.4

% & 3 180 179 180 180 180] 179.8 0.4

% & 4 240 239 240 240 240| 239.8 0.4
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